R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.12-18.dwg, FL-15213.14

Smooth / Wood Grain / White Wood Grain

i plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Rustic / Mahogany
Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is
required to be protected with an impact resistant covering that complies with
Section 1609.1.2 of the FBC.

For 2x stud framing consiruction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

37.50" MAX.
OVERALL WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

INSWING

37.50" x 82.00" +47.0

G1

Frame anchoring - 1X buck masonry construction

N~ A WIN

Bill of Materials, glazing detail & components

OUTSWING

-50.0

37.50" x 80.50" +50.0

-50.0

7] e o

8 gm 43
gm Lo T
2 ~ 0

RE8, %9

Eg:gz gt

g%%%gﬁd

m>l’) :u g
™ w N

s GROBE(TE

‘B‘ONgﬂ-s\_‘:

gsd§?5 -

[ER2Ed: §

o O €

.. § v E B ;
§ 55
gg cd
7

=

(Cle)

(LGZ

g8 =2
=8 =6
8(”.. =L
5 SO
&gm EQ
g&:’ﬁm
o

s 7
[_7_9 30:

oo oo

- xl =0

2 o%m

B gl ~%
& &
5|

2]

=

=

2]

|

4

Ll

S

o

v

oaTE: 02/16/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS

DRAWING NO.:

FL—15213.14

SHEET _1 oF 7

© 2012 R.W. BuiLDING TONSULTANTS INC.



O] SANYLIMBNGOD SNIAGUNE "My Z L0838 @

— BOPCE ON T'd IPILYDSS 4 uopull WZO_m_.)Mm i -
resz STVLIA TINVA H00a Ad AN sl|e| M
o ! 20D ), H
ssooubuz [ouOSefaid 10 PaDOR BPLIOL KTANGSeY W0 19vd Sl
2816°6G9°CL8 ON Suoyd d00d SSYI19¥34914 ,nu/ ) gw 2_
$6GEE "1d OSUIDA O€T xo@ °‘O'd \N\w@. ONI 08 LSV Id o|.|&|E m |
“ONI ‘SINVLINSNOD ONIGING . i w 2 m
:Ag pedodesd sjuewnsog <10NA0¥d S m W W
o
Q
oz
@ : &
1] =
2
)
— e
S hois
=F F . <
oy )
)
=
i
oz
5 5 ® g
oz
8 £ = < mw
e =®_.._. 7
'OEEET v . u
- 512
g * & O
ret— 4G —e m .va e
' * wl £ .
25
& _— E|e
o =
> R — 9e
o : 2%
5 nES A
L
“ @ —— 66" —=] S
4 | =
Y/ o =
oz I/ o o i
) Q ) ; =
% o - & i
- o = : =8
i~ Y
m Rﬁ_m
B S ©
O > —= L6Q f=—
e | €] O
® L
=2
QI8
0 ! SL'1 m
S 2
N _ &
= 3L
i o51-
e B
~—65°L =3
-
<8
=z
8o AU
e e
e
@) <
is = -~
83z m
8 |
LHOBEH 'O 1A XYW .00'e9
IHOIEH TANYd 4000 XYW ST 64

P1°Z ‘BMp'T-Z1' €126 T-1\0T02\sBumelq Damy "a\z85T 44\009T - T05T [osd\siepjod 1afoid\siafond - v\t



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 3.14

1-1/4" MIN.
EMB. (TYP,)

INTERIOR

S

800 b =

7“1\ HORIZONTAL CROSS SECTION

w Outswing shown - inswing
also approved

1-1/4" MIN. B
EMB. {TYP.)
@) (c) (&) g

INTERIOR

.' 7 v
SR RANRAY

. .V.

v

I'4

/~3 "\ HORIZONTAL CROSS SECTION
w Shown w/1X sub-buck

1-1/4" MIN.
EMB. (TYP.)

0.15" - o /\/
C'SINK —=- | .

(TYP.) -‘_ v I
_(® o
@ (7)

INTERIOR

e d @gg k

2N\ HOR!ZONTAL CROSS SECTION

\3/ Outswing shown - inswing
also opproved

;;Ei_, L7 )

horization No. 9813
Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

P.O. Box 230 Valrico Fl.. 33585

Phone No.: 813.659.9197
Florida Bogff‘mfouionnl Engineers

Certificate Of
Lyndon

R

Documents Prepared By:

PLASTPRO INC
FIBERGLASS DOOR

PART OR_ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

P
5
o
Z
2

oate: 02/16/'1

scalE:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.14

SHEET _J OF 7

© 2012 R.W. BUiLDiING DONSULTANTS NG,



CON| BANVLINSNOD SNIGTINE "My L0088 @

.Iﬂxin\ao.‘nt ON "F'd IPIUYDS ' Uopuk] SNOISIAIY i <
RS SNOLLOZS SSo¥0 Wwoiyaa |48 Avd TN delo] =N
€186 "oN uopozdouny JO 831DoPRIeD X N S bl ™
si00uiBus [DUOISERIOL IO pIDOg DRG] -ATHNISSY HO l¥vd Mm b . m &
S6SEC "4 OOLIDA OSZ X08 ‘0'd \S@m. “ONI 0¥dLSY1d S| |&lgle T
"ONI ‘SINVLINSNOD ONIaTNg . i m . M o W
:Ag pespdesd susWINDOQ -1oNA0™d & m W
(*dAL) "aw3
NIW B/ -1

N (S

OV (=)
<0 . (%4 (a4
S LT o O
) i E
: zl & z Z
.9 u—WJ— Ly
L 3»& &y -
9 v a3 ».“w.m
A e QI
v D SIE] Glo
| 2% L.m
A “w m M
: 5 B 3 5
m >5 mR..u >
® & :
S NI an

("dAL) "gwW3
"NIW ./ 1-1

("dAL)
=— NIS.D
S10
[a"4 [a%4
o = O =
o O o O
25 = 5
= “....mv = |
| & S
a1 S
g, g2
Vg Uls
R, me - d| )
o|28 : o|2
=8 : =B
Ei2s » 5[5
o =83 5 - >3
4,
9 mmv 9 © s mmv
[N [N
>3 £ T

pT'p ‘BMP'RT-ZT'£12ST-1H\0T0Z\SBuIMEIg DaMY "a\/8ST 4d\009T - T0ST foid\siapjod 1afoid\spefod - v\t



. _."ﬂ“fSl o 4. N ) R 6“ S . ,:‘;-a N 4. N ) R " 1) E {\Q
‘..'A‘VV.G ..q__.' ‘,~."‘>.,q v.q"'l 6 e L3
/ 7 ; /ﬁ ; ! gf 223
4 } i . S - e— Z.EEEGN ¢
T T o o - Beazd | =
ST ® N s & X :g%.ﬁg :_!
a0 5 a - 584 2% .
’d.n. ‘<’”v %)OBNEN %
L i (H— THIN
- - TR NF-
m m 4] ® z G
~ e TYP. HEAD ot - ~ TYP. HEAD & 224, i i
& JAMBS 2 | . =  javes — . Bds55°
MASONRY < MASONRY Lot a ; ‘E’
OPENING OPENING B 2 § 85 5
) P 28
EQ
L At | ;
® g GmmnaE L3 Q
(=4
> = ] >
<z zE Nz
Z =z i A S
z0 1 rame 5 3% 25
5 -3 o e
_ : S
] [ ® ] el @ O O I
? { =5 2
2X BUCK\ ) o %%
B & TN W
2X BUCK oo %0 o gg
Sy S
@ g O & & m Q Qm
\M‘—' =T S o & o §§
— m— 3 S| o x
oy Ty = =) (- UO
o % o EE
Q‘l "4 V’. .'»Q . LY o m
“‘ A 1L 1 e “' : . e @ E
e : o s e — b
v 4: ) < q ’_ : \9\ q “; | N b 4 \
]
BUCK ANCHORING STRIKE JAMB FRAME ANCHORING HINGE JAMB 5
Masonry 2X buck construction 7
o
o
CONCRETE ANCHOR NOTES:
1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements. /4
2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge Y o
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be 7@ , L
adjusted to maintain the min. edge distance fo mortar joints, additional concrete anchors ®\ =
may be required fo ensure the "MAX. ON CENTER" dimensions are not exceeded. o °] ; @ e
3. Concrete anchor fable: 3 = 1= 3
s { s W 1o e
o 5275715
ScAalE:  N.T.S.
) DWG. BY: JK
ITw 1/4" 1-1/4" 2-1/2" 3 /4 I{FI cHk. BY:  LFS
] ] e - DEANING NO.:
ELCO 1/4 1-1/4 1 4 LATCH & DEADBOLT DETAIL HINGE DETAIL Fl—15213.14
SHEET 5 OF _7

@ 20712 R.W., BULDING CONMNSULTANTS INC.



N
N
(7] e ) &
T REPLE
4 a M M . a4 . e 6" F4 = 00 <
e ey | MY NE
VT e - =T % 8a 25V
e ) = AR TNE
:1." " EHB__ 5' 85“’3?\.];
ER ®\\‘ 2 252%2 &
Y TYP. HEAD & %:': M R
21 7 —  JAMBS — - = S FRiidy
5 MASONRY 2 § 3¢ &
OPENING & s @§ 5%
3
| )/ :
@ ) [ ® ,I
. B x
% :z: EE 1 HINGE DETAIL S
o / 20 of 28
FRAME Sz Gl %o
® ) = © ® g 8 Q]ia_
T —{ 29l £2
o ! T
1X BUCK & Qg_ e Sx
\ R~ =
& sy R, ® "o" [+4 3
\—'\N = O %2
= S =
MR E 3 . o &
LN
T &
s : ,_é;'__ : e =
v .‘,’v O e * )
_ ﬂ et TS \ 27 /i
' I/ 0
P
STRIKE JAME FRAME ANCHORING HINGE JAMB LATCH & DEADBOLT DETAIL %
Masonry 1X buck construction E:
hd
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted fo maintain the min. edge b
distance fo mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be =
adjusted to mainiain the min. edge distance to mortar joints, additional concrete anchors =
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded. 3

3. Concrete anchor table: =z
oate: 02/16/12

scale:  NT.S.
DWG. BY: JK
ITw /4 1-1/4° 2-1/72° 3" cik. 8:  LFS
DRAWING RO
ITw 3/16" 1-1/4° 2-5/8" 2-1/4" FL-15213.14
SHEET 6 OF 7

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 6.14

© 2012 R.W. BuiLDiNg COMBULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 7.14

4.5¢"
%

75"

TN

244 !

213"

HEAD & SIDE
Jamb

BILL OF MATERIALS

ITEM DESCRIPTION MATERIAL
A_|1XBUCKSG >=0.55 WOOD
B_| 2XBUCK SG >=0.55 WOOD
C_|1/4" MAX. SHIM SPACE -
D_|1/4"X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
£ |MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

G | 3/16"X 3-1/4" PFH TW CONCRETE SCREW STEEL
H_|1/4"x 3-1/4" PFH TW CONCRETE SCREW STEEL
J_|1/4"X 3-3/4 PFH TW CONCRETE SCREW STEEL
K_| #10 X 2" PFH WOOD SCREW STEEL
L | #8X2-1/2"PFH WOOD SCREW STEEL
M_| #8 X 2" PFH WOOD SCREW STEEL
7| FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM
9| 4"X4"BUTT HINGE STEEL
10_| #9 X 1" PFH WOOD SCREW STEEL
T1_| #9 X 3/4 PFH WOOD SCREW STEEL
17_| KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
21 | POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
30| INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM./ WOOD
32_| VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. PVC
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 | DOOR SKIN [MIN. 0.075" THICK) FIBERGLASS
42 | TOP RAIL CELLULAR/PVC
43 | LATCH & HINGE STILE CELLULAR/PVC
44_| REINFORCEMENT WOOD FOR LOCKS (20" LONG] WOOD
45_| BOTTIOM RAIL CELLULAR/PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47_| CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
49 | GLAZING COMPOUND SILICONE
55 | LIP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
56 | GLAZING SPACER ALUM.
57_| #8x1-1/2" PFH LITE FRAME SCREW STEEL

' 5.63"

[

!
8
1

. ADJUSTABLE INSWING THRESHOLD

—-—‘ = 252"

0.75"

et 4 B ]

Sy —

—= 122" '——

213

HEAD & SIDE
Poly fiber jamb

| 456" -~

\ .
\\L

C > ADJUSTABLE INSWING mnssuow—(

1.38"

[ —

1.25"

( : ) QUTSWING BUMP THRESHOLD

0.5" GLASS
BITE

55

57

49

— "MIN.
GLASS THK.

1/8" TEMPERED

/_ GLASS

«—AIR SPACE

N OPTIONAL

56

\DECORATIVE INSERT
AlR SPACE

\_ 1/8" TEMPERED

GLASS

<:) GLAZING DETAIL

[I:/
w0 @
a3 %n N g
6B ez -m”
zn 3:0 L3
£ w20 [\
LV
go“‘iiz
oo & i
HE8 28y o
" 88l
Fq‘_N
zbnet 3
o O W) ] E
5‘0(’43&5 _g
§g§2"62\)m
5§ . £Ps W
835880
¢ Doo oy g
o 2 £
2 ggE k¥
[ = P
@ o g
Eg (T3
=
9
o
o
&
ZV)
35
[
sS °¥
=8 .S
=0 Uig
205 23
Q_S.J EU
i’ Y
VOIS <3
Sﬁ:m§
wlol = _|
COYuz
5 LL‘ZDE
2 N
m
©
7|2
&
172
=
)
)
ol
(1
b
<C
(]
O
z
oATE: 02/16/12
scale: N.T.S.
CHK. BY: LFS
DRAWING NO.:
FL—-15213.14

SHEET 7 OF 7

© 2012 R.W. BUILDING CONBULTANTS IMNC.



